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Name Date

H,, Order of Operations

Solve the following problems. Remember to use the order of
operations.

1.A. 6 X3+4X2= B. 12+24+-6—-2=
C. 2+8+16+8= D. 6+2X8+4=
E. 30+-10X 2+ 10= F. 17 —7 X2+ 12=
G. 25—-15+10X 2= H. 30X 3+10+9=

2. Jacob solved 28 +~ 2 X 2 + 10 and got 17 for his answer.
Tell Jacob where he made his mistake. What is the correct answer?

I ) Still More Division Facts

Complete the table using division. Use the number in the first column
as your divisor. Write your answer (the quotient) in the empty boxes.

+~ 110|120 | 30|40 |50 (100

Divisor

What patterns do you see?
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